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 1. 

.

.
, 

.
, 

, ,  (2%) ,
,  (2%), , 

,  (5%), , ,
, .

.
, 

; 
, .

, ,
, 

, .

, ,
, 

.
.

, , 
.

, 
, . 
 – , 

. 

,  – 5% 
).

,  – 2% .
, 

 – , . 
, 

 – ,
.

,  2% 
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. 
.

, 

.

:  – ,
, , , , , 

;  –  5% . 
, . 

 – , , .
, 

, .
, 

.
.

, 
.

), .

: , , , . 
, . , ,

.
 1-  ( ) 

.  2-  (
) 

.  3-  (
) 

.
.

; 
.

, , 
, 

, ; 
.

 – 
.
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 1

: « . 
 ( )»

+

. 
 – + , 

.
+ , 

:

2
+ + .

, 
 (  – ).

+ + –      2 2 3
+ + –.

 =
]OH[

]OH][H[

2
 = 1,8·10 16.

 – : 55,55 3; 
:

 ·[ 2 ] = [ +] –] = 1,8 10 16  55,55 = 1 10 14 3.

,
, :

= [ +] [OH ].

. 
;  22 º

10 14 3.

= [ +] [OH ] = 10 14 3.

, ,  [ +]  =  [OH ]  =
= 1410 3. 

 [ +] = 10 7 3  [OH ] = 10 7 3;
 [ +]  >  10 7 3  [OH ]  <  10 7 3; 



11

 [ +] < 10 7 3  [OH ] > 10 7 3.
, 

 ( ) 
):

 = -lg[ +];
 = -lg[ ].

 +  =  = 14,

:  = -lg  = -lg10 14 = 14.

, 
,  =  = 7. 

 < 7, pOH > 7.  pH > 7,  < 7.

:
                   < 3

                                = 3÷5
                     = 5÷6,5

                      = 6,5÷7,5
                    = 7,5÷8,5

                               = 8,5÷9,5
                 pH > 9,5

 – , 
, 

.
:

) 2 : 2
 ( 7), 2 .

: , 
, 2
. 2

 – 
3 3

2 .
2 , 

:

2 + 2 2 3

, 
 99% 2  1% 2 3.
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, , 
:

2 3
+ + 3 ;         1 = ]COH[

]HCO][H[

32

3  = 4,0 10 7;

3
+ + 3

2 ;          2 =
]HCO[

]CO][H[

3

2
3  = 4,2 10 11.

:

2 3
+ + 3  2 + + 3

2 .
 ( 2 3,

3 , 3
2 )  , , 

. 
, 

.
 1.1 

, 
.

 1.1
                             

4 5 6 7 8 9 10
2 + 2 3 99,7 96,2 71,5 20,0 2,4 0,2 -

3 0,3 3,8 28,5 80,0 97,5 95,7 70,4
3
2 - - - - 0,4 4,1 29,6

, 3
 (  < 4,0),  = 7÷9 
.  = 8,3 

3 . , 3
2 ,

;  > 10 
.

) : 
 3,5 – 

2,  2 3, 
.

) : 
, 

. ,
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PbCl2 + HOH = Pb(OH)2 + 2HCl
Pb2+ + 2Cl  + HOH = Pb(OH)2 + 2H+ + 2Cl
Pb2+ + HOH = Pb(OH)2 + 2H+

 – ,  < 7.
)  S 2  N 2

, .
) :  Na2CO3
 NaHCO3  11 – 

, 
.

. 
. 

 – 
.

. 

.

, 
. 

.

. 
 0,05 – 0,02 

, 
.

 – , 
. 

 HInd  Ind , 
:

HInd + + Ind–;      Ind  Ind+ + –.

,  –  – 
;  –  – ,

.
,

. 
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 (  1-2 
10 3 ).

 1.2.

 1.2

0,1 -  1,3  - 
     0,13 – 0,5

1,0 – 1,5
2,0 – 3,0

 - 
 - 

 - 
           0,2 – 1,8

7,0 – 8,8
 - 

 - 
2,9 – 4,0  - 
3,0 – 4,6  - 
3,0 – 4,4  - 

2,5- 4,0- 5,8  - 
4,4 – 6,2  - 
5,0 – 6,6  - 
5,0 – 8,0  - 
6,0 – 7,5  - 
8,2 – 10,0  - 
9,3 – 10,5  -  

 R 10,0 –12,0
11,0 –13,0  - 
12,0 –14,0  - 

 1.

: ; 
 ( ) ;

.

. 

, 
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, , 
, .

, 
 – , , 

, 
.

, 
. , 

, ,
.

, . 

, 
. 

, 
. 

.
, 

. 
  . 

 – , 
, 

.  KCl 
 20 3 .

, .
 ( )

,  ( ),

:

Hg, Hg2Cl2 |   HCl     |       | KCl | Hg2Cl2, Hg
g, gCl | KCl, HCl |       | KCl | AgCl, Ag

, , 
 ( ) 

.  
:

 =  +
F

RT ln a+ =  + 2,3026
F

RT lg a+ =  – 2,3026
F

RT  pH,
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:  – , ;
       – ;
      a+ – ;
      R – ;
       – ;
      F – .

.
. ,

, 
 2-3 . , , 

 8  0,01N .

.

. :
1)  « » 

;
2)  «

»  – 
.

 ( , ) 
 ( ). 

 0,1-0,05 º . ,
, 

. , 
. 

, 

. 
. 

. 
. , 

,  1.3.
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 1.3

t ºC

KH2PO4 +
Na2HPO4 2H2O Na2B4O7 10H2O

0 4,01 6,98 9,46
5 4,00 6,95 9,39

10 4,00 6,92 9,33
15 4,00 6,90 9,27
20 4,00 6,88 9,22
25 4,01 6,86 9,18
30 4,01 6,85 9,14
35 4,02 6,84 9,10

3) , 
, 

. 
, .

 2-3 . 
.

, 
, 

. 
, 

2.

, : ,
.

:  ( )
 0,1-0,05 º ; 4-5  (50-100 3);

; ;
.

  .

1
+ ,

 = 9,24.

:
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 ( )  ( ):

 = -lg[ +];    = -lg[ ].

,   +  =  = 14,  = -lg  = -lg10 14 = 14.

:

 =14 –  = 14  9,24 = 4,76.
+ +

1.4.  = 9,24.  0,24 (
)  ( +)  0,575, 

 10 ,  (Q = 9) 
. :

+] = 0,575 10 9 = 5,75 10 10.

. 
 ( );  22 º

 10 14 3.

= [ +] [OH ] = 10 14 3.

:

[OH ] =
]H[

1410 = 101075,5

14101  = 0,174 10 4= 1,74.10 5 3.

:  = 4,76; [ +] = 5,75 10 10 3;
                   [OH ] = 1,74 10 5 3.

2

 1,4 10–3 3.
, .

:
+  = 1,4 10–3 = 0,14 10–2 3.

 1.4. 

+] = 0,14 10–2 3, : 
 0,14  0,85, 

, .
, =2,85.

 = - lg +  = - lg 0,14 10–2  =  - lg 0,14 - lg 10–2  = 2,85.
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:

 = 14 –  = 14 – 2,85 = 11,15.

:

./101,71071,0
104,1

1010 31211
3

1414

:       = 2,85;      = 11,15; –  = 7,1 10–12 3.

 1.4  [ +]  (  = -lg[ +])
+ + +

Q 0,00 1,000 10 Q Q 0,34 0,457 10 Q Q 0,67 0,214 10 Q

0,01 0,977 0,35 0,447 0,68 0,209
0,02 0,955 0,36 0,437 0,69 0,204
0,03 0,933 0,37 0,427 0,70 0,200
0,04 0,912 0,38 0,417 0,71 0,195
0,05 0,891 0,39 0,407 0,72 0,191
0,06 0,871 0,40 0,398 0,73 0,186
0,07 0,851 0,41 0,389 0,74 0,182
0,08 0,832 0,42 0,380 0,75 0,178
0,09 0,813 0,43 0,372 0,76 0,174
0,10 0,794 0,44 0,363 0,77 0,170
0,11 0,776 0,45 0,355 0,78 0,166
0,12 0,759 0,46 0,347 0,79 0,162
0,13 0,741 0,47 0,339 0,80 0,158
0,14 0,725 0,48 0,331 0,81 0,155
0,15 0,709 0,49 0,324 0,82 0,151
0,16 0,692 0,50 0,316 0,83 0,148
0,17 0,676 0,51 0,309 0,84 0,144
0,18 0,661 0,52 0,302 0,85 0,141
0,19 0,646 0,53 0,295 0,86 0,138
0,20 0,631 0,54 0,288 0,87 0,135
0,21 0,617 0,55 0,282 0,88 0,132
0,22 0,603 0,56 0,275 0,89 0,129
0,23 0,589 0,57 0,269 0,90 0,126
0,24 0,575 0,58 0,263 0,91 0,123
0,25 0,562 0,59 0,257 0,92 0,120
0,26 0,549 0,60 0,251 0,93 0,117
0,27 0,537 0,61 0,245 0,94 0,115
0,28 0,525 0,62 0,240 0,95 0,112
0,29 0,513 0,63 0,234 0,96 0,110
0,30 0,501 0,64 0,229 0,97 0,107
0,31 0,490 0,65 0,224 0,98 0,105
0,32 0,479 0,66 0,219 0,99 0,102
0,33 0,468
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1

1. .
2. ?
3. ?
4. 2 ?
5. ?
6. ?
7. .
8. ?
9. ?
10. + , 

- ( 3) :
) 10 4;   ) 3,2 10 6;   ) 7,4 10 11.

11. , 
+ ( 3) :

) 10  3;   ) 6,5 10 8;   ) 1,4 10 12.
12. , + ( 3)

: ) 2 10 7;   ) 8,1 10 3;   ) 2,7 10 10.
13. ,  ( 3)

: ) 4,6 10 4;   ) 5 10 6;   ) 9,3 10 9.
14.  0,01N , 

 0,042.
15. ,  1 3  0,1   NaOH.

.
16.  [H+]  [OH ] ,  6,2.
17. :

) 0,02  NH4OH; ) 0,1 N; ) 0,05N ; ) 0,01   3 .
18. , 

 5,2?
19.  0,02N 

 0,03.  [H+], [OH ]  
.

20. ,  0,2 3  7 10 4  NH4OH.
 NH4OH  1,8 10 5.
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2
: « , »

, : Cl , SO4
2 , HCO3 ,

Na+, K+, Ca2+, Mg2+. , 
, ,  90 – 95% 

 –  99% . 
, . 

 HCO3  Ca2+,
 – Cl  Na+,   Mg2+  SO4

2

. 
,

, 
 2.1.

 2.1 , % ( )

Cl SO4
2 HCO3

Na+ 26,40 16,0 8,76
K+ 25,58 9,91 24,9

Mg2+ 35,3 30,0 -
Ca2+ 42,7 0,204 -

 1000 3 (
2). 

. 
, 

. 

.

, 
.

- 
+, NH4

+, NO3 , HS , Br , 
.

 1 3, 
 (‰).
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, , , : Cl ,
SO4

2 , HCO3 .
,  Cl

. 
, 

. ,
,  ( . . 2.1),  Cl

.  – 
 1 3  (  60 3

). 
. 

 Cl : 
,  ( ), ;

; ; 
. 

, , 
. , 

- .
l  350 3 ( ). 

, , 
 1 – 2,5 3. 

, 
.  Cl

.  Cl
 Na+ (NaCl),   –  Mg2+ (MgCl2) i Ca2+

(CaCl2), + ( Cl).
 SO4

2 , 
.  Cl

, - 
. ,

2+, 
CaSO4 (  =  6,1 10 5).  CaSO4

. ,  SO4
2

 2,7 2+  0,208 . 

. , 
 S 4

2  1 3 . 
 500 3 ( ).

)  (H2S). 
. ,
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, 
 (Mikrospira) 

:

2SO4
2  + 4C + 3H2O  H2 + HS  + CO2 + 3HCO3 .

 2000 . 
:       2H2S + O2  2H2O + 2S,

 –  SO4
2 :             2H2O + 2S + 3O2  2H2SO4  4 + + 2SO4

2 .
,

, 
.  SO4

2 . 
. 

.

. , , 
.

.  SO4
2

, . 
 SO4

2 . 

. 
, , , 

(CaSO4 2H2O)  (Na2SO4 10H2O). 

, 
.

 HCO3  CO3
2  – 

, 
. 

.
, 

,
2 :

2 = [CO2] + [HCO3 ] + [H2CO3] + [CO3
2 ]

, 
, 

, 
, :
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2 ( .)

2 ( )   2 3
1 + + 3

2 + + 3
2

3
2  + 2+

3 )

                                                                                                      3 ( .)

,  1.1. 3
 (  < 4,0),  = 6,5÷8,5

.  = 8,3 
3 . ,

3
2 , ; 

 > 10 .

 – 3,  MgCa(CO3)2,  (
 50-80 % 3  MgCO3), 

2:

3 + 2  + 2  2 O3 + 2++ g2+

:
SiO3 + 2 O3 + SiO2,

OH + 2 O3 .

, , 
. , 

2, 
O3 .

 1.

:  
.

, 
,  ( +). 

(m).
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, , 
.  –

, 

. 

.  8,3.
 ( 3

2 )  ( )
 > 8,3. , 

,  8,3, 
 ( ). , 

3 , 3
2

, m
.

. 
. , 

 8,3, . 
,  4,5, 
.  4,5, .

 4,5 , 
2.

.

. , , 
. , ,  24 .

3 ( . 3).
, :

. 

.
 (Cl2) – 

. 
0,1N  (Na2S2O3 5H2O).

2,  2, 
. 

2 .
 (SiO3

2 ),  (BO3
3 ),  (PO4

3 ),   (S2 )

 ( 3
2 )  ( ) . 

.
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.
 ( ).  200-250 3

100 3 .  0,1 3 (2 ) 
 (

)  0,1N  HCl 
 (  8,3). :

 + + = 2 ;
3
2  + + = 3 .

 (m).  (
)  0,1 3 (2 )

.
, , 

 4,5).
3  + + = 2  + 2.

,
2.  0,1 3; 

 –  0,05 3.
, 

. 
3

, , , 
.

. ( ) (m)
3 :

 = ;
V

10001,0ka m =
V

10001,0kb ;

:  –  0,1N , 
 (  8,3), 3;

      b –  0,1N , 
 (  4,5), 3;

      k –  HCl
 0,1N;

      V – , , 3.

, :
0,1N  HCl.  8,5 3  HCl .

 1 3. ,  (k) 
0,1N  (Na2CO3).
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, 0,5% .  0,5  50 3 96%
 50 3 .

, 0,05% .  0,05 
 100 3 .

: , 2;
 200-250 3;  25 3; .

 2.  (Cl )

:   (Cl ) 

.

. 
 (AgCl), 

,  Cl .

AgNO3 + NaCl = AgCl + NaNO3

Ag+ + Cl  = AgCl

, , 

Ag2CrO4.
K2CrO4 + 2AgNO3 = Ag2CrO4 + 2KNO3

CrO4
2  + 2Ag+ = Ag2CrO4

 AgNO3

 Cl . 
, 

(Ag2CrO4) .

 Cl ,  10 3, 
.

 - 1-3 3.
 (Br ,  ), 

. 
, , 

 Cl .
 Cl : 

 = 6,5),  H2S  HS , . 
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 2-3 , 
 ( ) 0,05N  Na2B4O7

 ( ), 
 0,05N HNO3.

 Cl , 
, 

 AgNO3.  Cl  100 3

 100 3  0,02N  AgNO3. 
 Cl  100  250 3,   100 3  0,05N 

AgNO3.   Cl  250  800 3  50 3

0,1N  AgNO3.

, 
. 

,  « ».  2  « »:
,  Cl  (

15-10 3).  100 3

,  Cl  (  10%  AgNO3
NO3,  ),  1  3  K2CrO4

 AgNO3
 (  0,02N  AgNO3  0,18 3).

, , .
, 

.
», , , 

, , .  « » 
, 

 « ». « » 
 20 3.

 Cl , 

.

. 100 3

 250 3,  1 3 (20 ) 10%-
K2CrO4  0,05N  AgNO3

, . -
 AgNO3

 Ag2CrO4, . 
 –  AgNO3 . 

, 
 AgCl, 

, 
. -
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, 
.  « ».

.
.  (

) 3

AgNO3, .
 (  « »)

. 
 100 3  ( ,

),  1 3  K2CrO4  200 
. 3  AgNO3, 

, 
100  100 3.

 ( 3) 3

 AgNO3, . 
0,1N  AgNO3

.

:

[Cl-] = 35,445 N n
V

1000 , 3,

: 35,445 –  Cl ,  1 3 1N  AgNO3;
      N –  AgNO3;
      n – 3  AgNO3,  (

);
      V –  ( 3).

, :
0,05N  AgNO3 : 8,49  AgNO3

 1 3 .  AgNO3
.  

, ,
 ( ) 

AgNO3.
0,05N  NaCl – 2,9221  NaCl ( .),  500-600 º

,  1 3

.   0,05N  Cl  ( .),  ,
 3,7277 .

10%   K2CrO4.
 AgNO3.

 0,05N AgNO3  0,05N 
NaCl.  15 3  NaCl  

 50  3.   0,5  3

K2CrO4  AgNO3 . 
, .  (N1)  AgNO3
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:                  N1 = N2
n
a

;

: a – 3  NaCl;
      N2 –  NaCl;
      n – 3  AgNO3.

:  250 3;  25 3 ; 
15 3;  K2CrO4; ; .

 3.  (SO4
2 )

:   (SO4
2 ) 

; 
.

. 
: 

, 
. 

 1 3 :  1   SO4
2  =  48,03   SO4

2 ;
1  SO4

2  = 0,0208  SO4
2 .

:
 10 3

 (HCl)  0,5 3

10%  (BaCl2).   5  
50 3, , . 

.

, 
 (PbSO4). , 

,  PbSO4 . 
.

, 
.

 1 1-2%.
, .

-2 +  ( . ).
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. 200-300 3 ( )
 (

6-8 ).  30 3 ,  ,  
.

 10-20 3 (  SO4
2 ,

 1 ), ,
. 

, 
. 

, 
, 

.
 (10-20 3),  

 50-100 3 ,
 10 3 , ,  30 3

, , .
.  ( 3) 

:

[SO4
2 ] =

V
03,481000Nn ,

: n – ,  ( 3);
      N –  Pb(NO3)2;
      V – , 

 ( 3).

, :
0,02N  Pb(NO3)2. 3,31  Pb(NO3)2 ( .)  

 1 3. 
.

. 0,1  5 
.

96% .
 HCl . 

(12N) . HCl  1:3  1:12.
4%  NaOH. 40 . NaOH 

 1 3 .
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-2 . .  
 4N ,

. , 
. ,

 100 3 1N  (NaOH), 
, 100 3 1N .  10-12

; 
. , 

. 
. 

 (
). 
 200-300 3 0,1N 

.
. -2;   250  3;  50 

100 3;  10  50 3;  25 3.

2

1. , , 
)?

2.
?

3.
?

4. ? 
?

5. ?
6. , , 

 500 3 20%- ,  1,133 3?
, , 

?
7.  CaSO4  10  3 , 

 0,2 3? 
 ( ) .

8. 3 30%-  3 3

0,5 ? 
) .  30%-  = 1,34 3.

9.  500 3  2,5  Na2CO3. ,
.

10. ,  CaCl2  250 3 0,2
CaCl2. .
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11.  ( ), 
 ( ),  ( m)  ( ) 25%-

 Na2SO4,  1,2 3.
12.

?
13. ?
14. ?
15.

?
16.  ( )

?
17. ?
18. ?
19.

?
20.

?
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3

:  « . 
 (Ca2+),  (Mg2+),  (Na+ + K+) 

»

 – 3,6.  – .
, 

 10% (  40%). 
 0,5%. ,

. 
, .

. 
. ,

 (Ca2+) , 

. , 
, ,

 Ca2+

CaSO4 2H2O i CaCO3.   Ca2+

 1 3. 
3.

 Ca2+ , ,
, :

CaCO3 + CO2 + H2O   Ca(HCO3)2  Ca2+ + 2HCO3

, . 
.

 – 2,1), . 
, , 

; .
, 

. 

 Mg2+ . 
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.
 Mg2+

, .
, 

, 
. 

.

 – . 
, ,  

, 
, . 

: 
, , , 

, 
. 

. 
, , ,

, 
. , 

 ( ) 
:

2C17H35COONa + CaSO4 = (C17H35COO)2Ca  + Na2SO4
                            

 – 
, , . .

, .

. 
2+  Mg2+ ( 3):

. = n(
2
1 Ca2+) + n(

2
1 Mg2+),

: n – 2+  Mg2+,   1  3

);

:               . =
)Ca(M2/1

)Ca(m
2

2
+

)Mg(M2/1
)Mg(m
2

2
 =

20
)Ca(m 2

+
12

)Mg(m 2
,

: m(Ca2+), m(Mg2+) – , 2+  Mg2+, 
 1 3  ( );
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,  4 3, ,
 4  8 3 – ,  8 3 – . 

 7 3.
2, 

:

2 + 2 2 3
+ + 3 .

2+  Mg2+ , 
3 ,  ( ) .  

2+  Mg2+ , 
 –  (SO4

2 )  (Cl ), 
) .  ( )   ( )

 ( ):

 =  + .

, 
).

 ( ) 
:

Ca(HCO3)2
0t  CaCO3  + CO2  + H2O

Mg(HCO3)2
0t Mg(OH)2  + 2CO2

 1 3.

):

Ca(HCO3)2 + Ca(O )2  2CaCO3  + 2H2O
Mg(HCO3)2 + Ca(O )2  MgCO3  + CaCO3  + 2H2O

MgCO3 + Ca(O )2  Mg(OH)2  + CaCO3

0,35 3.

 (  = 2+  Mg2+):

ECl2 + Na2CO3  ECO3  + 2NaCl
ESO4 + Na2CO3  ECO3  + Na2SO4

3ECl2 + 2Na3PO4  E3(PO4)2  + 6NaCl
3ESO4 + 2Na3PO4  E3(PO4)2  + 3Na2SO4
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 0,035 0,07 3.

, 
. 

.  R–  R–Na 
+  Na+, 2+  Mg2+. 

R–  ( ),  SO4
2

 Cl  (R – , , 
). 

2+  Mg2+ +  Na+,  SO4
2

Cl . 
, . -

;
2+  Mg2+ , 

+. 
; ,

. 
 0,01 3.

, 
, l . 

. 
.  Na+

3, 
 Na+ .  – 

,  Na+ l
. 

80-89 % , 
, 

 3 .
+ ,  Na+. 

+

. +

 Na+ .
 Na+ +

+

,  – , +, 
, ,  Na+.
+ ,  Na+, . 

+ , 
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. , ,
,  Na+

.

 1.  (Ca2+)

:
.

.
, 

0,1  Ca2+ . 
 (  = 12-13)

.  Ca2+

.  ( )
,  – 

. 
1 3:

1  Ca2+ = 20,04  Ca2+; 1  Ca2+ = 0,0499  Ca2+.

 0,4-0,6 3, 
1%.

, . 
2+

 Mg2+,  K+, Na+, , 2+

,  Mg2+,
K+, Na+ 2+.  100 3

,  3 , 
, 

, .  K+  Na+

, . 
 Mg2+,  K+, Na+

. 2+

 Fe2+, Fe3+,
Mn2+, Al3+, Cu2+. 
0,5 – 1 3 25%- . 

3 3
2 , 

4
3  SiO3

2 . 
 NaOH.
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.  50 3

100 3.   2  3 2N  NaOH  10-15 
.  0,02N 

. 
.

. 2+

:

                                    [ 2+] = 20,04 N n
V

1000    ( 2+ 3),

                               [ 2+] = N n
V

1000    ( 3),

: N – ;
      n – , , 3;
      V – , 3.

, :
0,02N .

 ZnCl2  (
, ).

: 0,5  9,5  NaCl . 
.

NaCl .
2N  Na : 80 . Na  1 3 .
25% .

.
.  200-250 3;  25 3;   2,  50  3;

 100 3.

 2.
.

:
; ; 

 ( ).

. 
.

)

          HOOCH2C                                        CH2COONa
        N-CH2-CH2-N

        NaOOCH2C                                     CH2COOH

, , 
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:
Na2H2 .) + 2+ Na2Ca( .) + 2H+,

Na2H2 .) + Mg2+ Na2Mg( .) + 2H+.

         OOCH2C                                               CH2COONa
        N-CH2-CH2-N

        NaOOCH2C                                             CH2COO
        Me

 – , Mg.

 ( -
):

               

NaH2In  Na2HIn Na3In
=6,3                         =11,5

 Mg2+

,  Mg2+

:
                                                  

Na2HIn + Mg2+  MgHIn + 2Na+.

, 
. , , 

:

                              MgHIn + Na2H2 .)  MgH2 .) + Na2HIn.

, 
2+,  Mg2+. 

.

,  ,  ,  ,
 (NH4OH + NH4Cl), 10.

. 2%.
.

, , 
, 2+  Mg2+

,  0,5 3. , 
:
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               2+  Mg2+ ( 3)…….0,5-5         5-10         10-20        20-50
               ,
                                     ( 3)………………100           50             25             10

, , 
, 

,  (
) . , 

[Fe2+]  20 3; [Fe3+]  20 3; [Al3+]  20 3; [Cu2+]  0,3 3

.  Cu2+

,  Cu2+

 1 3 2%   Na2S,  Mn2+ –
5  1%  (NH2OH HCl). 

,  2+  Mg2+, 
.

.  200 3

 100 3, 5 3

. 
0,02N -

. , 
, 

; 
.

. 2+  Mg2+ ( 3)
:

                                                 . =
V

1000Nn ,

: n – , , 3;
      N – , 3;
      V – , , 3.

, :
0,02N  (Na2H2C10H12O8N2 2H2O): 3,72 

 1 3 .
 ZnCl2: 0,3269 .  (

 HCl, 
)  1 3,  10-15 3

 3 3  HCl. 
 – 

0,01N.
:  20  .  NH4Cl , 

100 3  NH4
 1 3.
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: 0,5 .  10 3

 100 3 .
:   200  3

 10 3  (ZnCl2), 
 100 3,  5  3 , 

. , 
2+  Mg2+. 

:

N1 = N2
1

2

V
V

,

: N1 – , 3;
            N2 –  (ZnCl2), 3;
            V2 –  (ZnCl2), 3;
           V1 – , , 3.

:  25 3;  200 3;  1 3;
;  100 3.

 (Mg2+)
.

.

:

                             [Mg2+]= 0,02 1000(
1V

a
2V

b )   ( 3),

: a –  0,02N , 
, 3;

       b –  0,02N , 
, 3;

       V1 – , ,
3;

        V2 – , , 3.

:
[Mg2+] = . – [ 2+] ( 3),

[Mg2+] = 12,1( . – [ 2+]) ( 3).

3:

1  Mg2+ = 12,1  Mg2+; 1  Mg2+= 0,08226  Mg2+.
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 3.  ( )
.

:
; ; 

; 
. ; 

. .

.
3

2+  Mg2+. 

.  – 
, 

 < 3,1)  (  > 4,4),  3,1 <  < 4,4 –
.

3 :

3  + 2 2 3 + .

,  ( ) > 0 , 
, 

. 
 HCl :

 + +
2 .

+ , 
3 , .

.  200 3  100 3

,  2-3 
 0,1N  HCl 

.

.  ( ) :

.=
V

1000Nn  ( 3),

: n –  HCl, , 3;
      N –  HCl, , 3;
      V – , 3.
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, :
0,1N  HCl.  8,5 3  HCl .

 1 3. ,  (k) 
 0,1N  (Na2CO3).

, 0,05% .  0,05 
 100 3 .

:  200  3;   25  3; 
.

 ( )
.

. 
, . 

, 
SO4

2  Cl . 
.

 ( ) :

. = . – . ( 3).

 (Na+)  (K+) 

 Na+  K+, 
, 

. 
,  > 0,1 . 

, 
. , 

, ,  Na+ + .  
,  3% 

 > 300 3  5% 
 < 300 3, , 

.
 (Na+ + +)  ( 3) 

3) ,
 25  24 

. ).
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. , 3:
                                       2+       Mg2+      HCO3          SO4

2          Cl
                                       50,1       15,2       210,5           24,0           7,1
          3:
                                       2+       Mg2+      HCO3          SO4

2          Cl
                                       2,5         1,25       3,45             0,5            0,2

[ 2+ + Mg2+]= 3,75; = 4,15

[Na+ + +] =  – [ 2+ + Mg2+]  = 4,15 – 3,75 = 0,4 ( 3);
[Na+ + +] = 0,4 25 = 10 ( 3).

 (
I

).
 ( ) 

, 
:

I
= [Ca2+] + [Mg2+] + [Na+ + +] + [HCO3 ] + [SO4

2 ] + [Cl ] ( 3).

1.
?

2.
?

3.
?

4.
. ?

5.
? ( . , . ,

. ) ?
6.

?
7. ?
8.

Na2CO3  Ca(OH)2?
9.  ( ) 

? 
.
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10.  ( ) ?
.

11.
? ? 

, .
12. , ?
21.  1  3  38   Mg2+  108  2+.

, 
 1 3 .

22. ? 
,  10 3  0,5   MgCl2? 

 Na2CO3 , ?
23. ,  100 3

 5 3 Cl  0,1 3. 
)2  1 3 ?

24. , 
,  100 3 ,  4 3

 0,1 3.  
Na3PO4  500 3 ?

25.
?  200 3 , 

 4 3.   Mg2+ 2+

,  0,5 3?
26. , 

? 
, 1 3  0,8 .

27.  0,38 3  0,08 3

.  Na3PO4, 
 5,6 3 ?

» .

, 
, , 

, 
.

, , 
 ( )
, 

.  ( , , 
), 
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.

.

3
3

3) %-

:
Cl

SO4
2

HCO3
-

:
Na++K+

Mg2+

Ca2+

), 3

:
3 3) –  ( )  1 3;

3 3 ) – 
)  1 3;

%-  – .

. : 
[SO4

2 ] = 0,128 3, 
. :

 (SO4
2 ) = f M = 1/2  96 = 48 ;

:

[SO4
2 ] = 0,128/48 = 2,7 10 3 3,  2,7  ( 3).

, . 
 ( ) 

.  ( .)   100%  
 ( .)  100%. 

 %- :



48

 ] =
a

100a  (%- );

 ] = 100  (%- );

:  – 3 ;
       – 3 ;
       – 3 ;
       – 3 .

. , 
 Na++K+, 

.  Na++K+ :

[Na++K+] = (Cl + SO4
2 + HCO3 ) – (Mg2+ + Ca2+).

, ,
. 

 Na++K+ ( 3) 
 ( 3) , 

 ( . )  25, 
24.  Na+/K+ = 7,05. 

,  Na+  K+

, .
 1% 

. ,  2,846 3

 2,85 3,  34,57 3  34,6 3.

 (
 – 

: , . , 
. , , .).

, 
. : Cl , SO4

2 , HCO3 ,
Na++K+ , Mg2+, Ca2+,  ( , 

).

, 
. , 

 (  %- ) 
;  –  (  %- ) .
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 (  %- ) . 
3.

. 
:

, 
%)100(
%)100 ( , ,

:  – ;
       – , 3;
       – , º ;
       –  ( ), 3 3 .

 2.1
                           .

 – . , . 

3
3

3) %-

:
Cl

SO4
2

HCO3

40,2
55,1
226,2
321,5

1,13
1,15
3,71
5,99

19
19
62

100

:
Na++K+

Mg2+

Ca2+

18,1
17,8
61,1
97,0

1,66
1,27
3,06
5,99

28
21
51

100

), 3 0,3

21MgK)28(NaCa51
19Cl19SO623,0 43M
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 2. 

. 
,
.

, 
, .

, . 
, 

. , 

.

, , ,
.

:
1.

, 

.
2. , ,

 1/3 – 1/4 . 
.

3. , 
, , 

.
4. . 

. .
5. , , ,

.
6.  ( ,

, .) :
) ;
) ;
) , 

 ( ) 
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.
7. :
) , 

;
) ;
) , ;
) ;
) ;

.

 4

: «
. »

: 1. ,
, 

, 

2.
; 

, ,
, , , , 

.

, 
. 

, , . 
, , . 

. , 
16900,  332 .

. 
. 

, 
. 

. . 
, 

.
, , 
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, , 
,  20 . 

. 

, .
.  (1888 .) 

 (NH2-CO-NH-CO-NH2), .  (1902 .) 

.
, 

. 
.

, 
, ),

 ( )
 ( )

. 
. 

. , 
. .

:    :
, , ,        , , , ,

,  ,             , , ,
, , .          , , .

, , 
. . 

 « », 
,  -

, . . 
 - 

. 

.

. 
: , , , , .

. 
, . 

. 
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. , 
, 

.

; 

 1. 
.

: ,
, 

, , 
, ,  (  –
 1000 3).

, 
 5-10 . 

, 
 1:10, 

:  (0,6-0,8 3),  (25-30 3), 
 (1-1,5%) . , , 

.

: , , 
. , 

;  –
. 

, .
, 

. . , 
, . 
 ( ) 

 ( ), . 
 (

 1 ) ; 
.

 ( )

). 
 20-25 º  10-90 .
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, , 
.

 2. .

.
, .

. 
) , 
. 

. 
:  – ; 

5 , . 
, ; , -

 1 . 
 ( ),  – 

.
. 

Na2HPO4 2H2O (17,814  1 3 –  8,302) 
KH2PO4 (13,638  1 3 –  4,529). , 

, 
,  4.1.

 4.1 – 

 1 3 , 3

, Na2HPO4 2H2O KH2PO4

4,976 0,1 9,9
5,600 0,5 9,5
6,239 2,0 8,0
6,813 5,0 5,0
6,976 6,0 4,0
7,146 7,0 3,0
7,346 8,0 2,0
7,648 9,0 1,0
7,863 9,5 0,5
8,171 9,9 0,1
8,302 10,0 -
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, 
100  200, 300 3,  –

 = 4,976;  = 6,976;  = 7,648. 
,

. , 
.

 3. .

 ( )
, ,

.
, 

. 
, ,

. . 
,  –

, . 
, 

. , 
 – , 

.

 1-2 3

 (  = 30 %), 

 = 1 %). . 
. 

, , ,
, 

. , 
.

 4. 

– 
, . ,



56

. ,
, .

, , , 
. . 

.

, .

. ,
.

 2-3 3

 = 1 %)  (  = 95 %). 
 70 º  15-20 . , , 

. , 
.

 5. 

– 
, 

. , 
. 

, 
 - .

 –
, , 

 (
). 

, . , 
, . 

: , , .

 1-2 3  5-6 
, 

. 
, .

, , 
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. 
, 
. , 

 6. 

– 
 – , 

. 
, 

. 
.

 1-2  3  (  = 1 %) 
 (  = 5 %)  2 3  ( ),

 = 0,5 %),  2 3

,  ( )
6 3  (  = 10 %), .

. ,
.

 7. 

– , 
 –SH. 

,  – SH-  S2 , 
. .

 1-2 3 , 
 2-3 

 (  = 5 %). 
.

,  ,  
. , 
, 

. , 
.
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 8. 

 –
 (NH4)2SO4; MgSO4; Na2SO4; NaCl . 

, 
. , 

, 
. , 
, 

, ,
, . 

.

,  – . ,
, , 

.

. , . , 
, 

.

 1,5-2,0 3 , 
.

. 
, , 

.
. 

, .   

. , 
.

. . 
,   .

 9. .

 2 3 . 
:

1. . 



59

, .
2.

 (  = 1 %), . , , 
.

3.  0,5 3

 (  = 10 %) . 
. 

, ,
, .

4.  0,5 3

 = 10 %), 
. . , 

 4.2. .

 4.2 – 

1
2
3
4

 10.
.

 1-2 3 ,
. , , 

 0,5 3

,  .  
. , 

, . 
, 

.

 4.3 – 

1
2
3
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. 

, . 
,  4.3 

.

 11. 

) . 
 2-3 3

 (  = 5 %),  – 
 (  = 20 %). 

.

. 
, 

.
) . 

 1-2 3 ,

(CuSO4),  –  (Pb(CH3COO)2).
 – , 

 – 

.
. 

 ( , , , )

, 
. 

. , 
.

 12.
.

 –
 0,1 3  5 3

, .  30 
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 (0,1 3

0,9 %  + 5,0 3 ) 
 10 ,  540-560  – ).

, 
 – ,  – .

,  4.4:

 4.4 – 

. ,
3

. ,
3

1 0,4 0,6 40
2 0,6 0,4 60
3 0,8 0,2 80
4 1,0 - 100

.
 2  –  0,1 3 , 

,  ( ) – 0,1 3 . 
 5 3 .

 30  ( ) ,
,  10 ,  – ,

. 
. , ,

, .

4

1. ? 
2. .
3. .
4. ? ?
5. ?
6. ?
7. ?
8. , ?
9. .
10. ?
11. ?
12. ? ?
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13. ?
14.

?
15. ?
16. ?
17. ?
18. ?
19. , 

: , , . 
?

20. ,
.

21.  19,17% . 
, , 

.
22. ?
23. ?
24.

?
25. ?
26. ?
27. ? ?
28. ’ ? 

?
29.

: , , , , .
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 5

: « . 
»

: : 
, 

; 
.

) – 
) . 

, , , , , ,
. 

, , , 
 – , 

, , . , 
, 
,  – 

, .
 – , 

.  – 
, , 

.
 – 

, 
 ( ).

) . 
, : 
,  ( ,

, , . .).
. 

 – , 
,  – ,  (1) 

, ,  (2) 
.  ( ), 

.

. , 
 t .  t .. . 

 ( 2, Br2,  I2)
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.

.

. 
,  – 

.
 – 

. . (
 1  39 )  (
 100  107,1 ), 

, , , 
.

. 
, , , , . ,

, , 
.

)  1-4 
. 

).

:  ( ), 
 ( ), .

, 

. 
: ,

.

 1. .

 6  2 
 1-2 3 ,

 5.1:
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 5.1 – 

1 2 3 4 5 6
:  Na2CO3

:

. 
.

 2. .

 2  1 3. 
 1-2 , .

. . 
, .

 3. .

2 3  40%.

.
. 

 8-10 3 , 
.

 4. .

.

) .
 2 3 ,  3,

 10% 
 (t = 100 º ). .
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) .
 2  3  (  4 )  10 

(NaOH) = 10 %  1-2 (CuSO4) = 2%.
, .

5

1. :
, ?

2. :
) ;   ) ;   ) .

3. .
.

4.  (Ni) , 

. :
) ;     ) .

5.
.

6. .
7. ?
8. ?
9. ?
10. ,   .
11. .
12. .
13. .
14. .
15. .
16.  ( , , ).
17. ?
18. ?
19.

?
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6

: « . .
»

: , 
, ; 

; 
; 

.

, 
: . 

n 2n n. ,
: 

. 
. 

. , 
, 

.

. 
, , 

. 
 ( ) , 

 – .
, ,

.  – 
, 

12 22 11.
. 

. 

, 
. 

, .  –
, 

, .
- . 

, . 
 ( ).
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, 
. 

. ,
. 

 – .  10 
 41 . 

. 
,  Ag2O i Cu(OH)2.

: , 
, , 

.
 ( ),  ( ) 

 ( ) :
, 

. .
,

, . 
, , , , 

, 
. , 
.

 1. .

. 
 ( 2 4)  

.
 4  1 3  ( ,
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, , ),  2 
,  10%, , 

, , 
2 3. .

.

 2. .

: , 
. , 

 ( )  ( ) 
.

, , ,  1 3

 1 3  (
:  1 3  – 200 

, 150 ;  1 3  – 40 
, 

). .
.

 3. .

. ,
, .

 (13,3  200 3

,  1,9 3 )
 5 3  3  1 3 ,

. 
 10 .

.

 4. .

, .
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 2  3 3

 1-2  (1 , 2 
 15 3 ,  300 3).

. .

 5.

, 
 4-

, 
.

 0,2 3  2 3

, .  12 . 
20 .  20 º .  20 

 (0,1 3 0,9% 
 + 2,0 3 )  10 ,

 540  – ).
, 

 – ,  – .
 2  –  0,1 3 , 

,  ( ) – 0,1 3 . 
 2 3 .

:

,
3

, 0,04 ( ) 0,02( )
4,00 ( ) 2,00  ( )

 20  ( ) ,
,  10 ,

 – , . 
. 

, , , 
.



71

6

1. , 
.

2. ?
3. , 

?
4.

?
5. .

:
) -1- ,   ) -6- .

6. -1-
, . 

.
7.  (4-5 ) 

.
8.  (4-5 ) , 

.
9. ?
10. .
11. .
12. .
13.   .
14. , , , .
15. ?
16. ?
17. ?
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7

: « »

: : 
, 

.

, . 

. 
 – . 

, 
, 

.
:

1) , ;
2) ;
3)  ( );
4) .

. , 
. 
, .

 80 ° . 
,  100 ° .

 (  0 ° ) , 
. 

 37-40 ° ,  20-20 .
, 

, .

, , 
.

. , 
 = 1,5 – 2,5 ( , ) 

 = 8,00 ( , ).

, 
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.
, 

, . , 
 ( )   

. , 
 ( ) 

 ( ), 
. 

, 
. ,

, . 
. , 
, , 

, .

, , 
.

, 
, 

. 
, 

. 

. 
. 

. 

.
, 

. 
.

: 2+, g2+, n2+, 2+, l . 
. , ,

, . ,

, 
.

, , 
. , , .

 6 
.  – , 

.
: 1.  (

). 2.  (
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). 3.
). 4. . 5. . 6. .

. 
. 

.
. 

, , 
.

 1. .

. 
.

 2  15  (
),  5 . 

 2-3 
, .  10 

 (1%), 
.  5 , .

. .

 2. .

 10  (1%), 
– 10  (1%). 
5  5 .  10 

 (t = 40 ° ). 
, 

.
 7.1. .



75

 7.1 – 

 1  2

 3. 
.

.  7.2.
.

 7.2 – 

1 2 3
H2O ., 3

(NaCl, H2O), 1%, 3

(CuSO4, H2O), 1%, 3

10
-
-

8
2
-

8
-
2

, 3 10 10 10
, 1%, 3

5 5 5 ,
 5 .

, 1-2 1-2 1-2

 4. .

,  (38 ° , 30 ) 
. 

),  1 3

(30 ).
.

 1 3 0,85% 
:  –  1 3 ,  10 .

, 1 3

. 
 1 3

. .  1 3 .
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 10  ( ) –  2 3

0,1% . 
 45 . 

15 , 
, .

 2 , 
, .

7

1. .
2.

?
3.

 ( ).
4. , 

:
 +  + -6-

5. , 2  NH3. 
.

6. - - , 
N- . 

.
7. .
8. :

 + -1,6-  + ;
.

9. .
10. ?
11. ?
12. ?
13.  (1-2,  4-5,  6-7)?
14.  (1-2,  7-8,  4-5)?
15. ?
16. ?
17. ?
18.  ?
19. ?
20. ? .
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» .

, 
, , 

, 
.

, .

;
;

;
, , ;

;
;

.

, 
.

», , , 
, 

.



78

1. ., . :  / .:
, 1997. 384 .

2. . . / ., 1970. 307 .
3. . . : . / .: 

, 1995. 267 .
4. ., . , . . 

. / .: . 1973. 270 .
5. . .,

. . . / .: 1973. 375 .
6. . . / .: , 1982. 275 .
7. ., . : 

. / .: , 1998. 704 .
8. . . / .:  .

, 1978. 422 .
9. ., . . . / .:

., 2003. 279 .
10. . . / .: , 2002. 297 .
11. ., ., . 

. . / : 
», 2003. 204 .

12. : www.library-odeku.16mb.com

13. . : . / ., , 1989.
351 .

14. .   (  « .  »).  /  :  ,
2011. 752 .

15. .  (
»). / .: , 1988. 264 .

16. .  «
». / : « », 2006. 79 .

17. . . . . / .: 1989.
391 .

18.  / -
. / , , . . /

: 1998. 147 .
19. . . / .: , 1989.  407 .
20. .

/ : , 1994. 415 .
21. . . . / :

http://www.library-odeku.16mb.com


79

, 2000.  508 .
22. . . / .: , 1987.

815 .
23.  /

. . / .: , 1976. 294 .



80

 1 –  (  = 298)

 = - lg 

HNO2 6,9 10 4 3,16
3 3 7,1 10 10 9,15

                    1

2
H4GeO4

7,9 10 10

2,0 10 13
9,10
12,7

                      1

2
H2Se 1,3 10 4

1,0 10 11
3,89
11,0

                     1

2
H2 3

1,4 10 2

6,2 10 8
1,85
7,20

                     1

2
H2S

1,0 10 7

2,5 10 13
6,99

12,60
                   1

2
2 3

2 ( )+ 2

4,5 10 7

4,8 10 11
6,35

10,32

3 1,74 10 5 4,76
              1

2
3 3

3,1 10 2

1,6 10 7
1,51
6,79

              1

2

3
3 4

7,5 10 3

6,3 10 8

1,3 10 12

2,12
7,20

11,89
                      1

2
H2 3

2,2 10 10

1,6 10 12
9,66

11,80
2,95 10 8 7,53

HCN 5,0 10 10 9,30
HF 6,6 10 4 3,18

                  3 Al(OH)3 1,38 10 9 8,86

)
H3N + H2O

NH4OH
1,76 10 5 4,755

 ( )                 2 Fe(OH)2 1,3 10 4 3,89
 ( )                2

3
Fe(OH)3

1,82 10 11

1,35 10 12
10,74
11,87

                      2 Mg(OH)2 2,5 10 3 2,6
 ( )               2 Mn(OH)2 5,0 10 4 3,30

 ( )           1

2
Pb(OH)2

9,55 10 4

3,0 10 8
3,02
7,52

AgOH 5,0 10 3 2,30
                         2 Zn(OH)2 4,0 10-5 4,4
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 2 –
                          (  = 298 )

HNO3 43,6

HBr 109

HI 1011

HCl 107

H2SO4
1=103;
2=10-2

HMnO4 107

 3 – 

) , 

 ) 1,78 10 4 3,75

3
 ) 1,74 10 5 4,76

3 2
 ) 1,35 10 5 4,87

3
) 1,38 10 4 3,86

3 4
( ) 7,25 10 3 2,14

2 4
( ) 1,38 10 4 6,87

4
2

) 3,98 10 13 12,4

2 3
) 1,7 10 4 3,77

3

) 6,31 10 11 10,2
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 4 - 
                        250

AgBr 6 10 13 Cu(OH)2 2,2 10 20

AgCl 1,8 10 10 CuS 6 10 36

Ag2CrO4 4 10 12 Fe(OH)2 1 10-15

AgI 1,1 10 16 Fe(OH)3 3,8 10 38

Ag2S 6 10 50 FeS 5 10 18

Ag2SO4 2 10 5 HgS 1,6 10 52

BaCO3 5 10 9 MnS 2,5 10 10

BaCrO4 1,6 10 10 PbBr2 9,1 10 6

BaSO4 1,1 10 10 PbCl2 2 10 5

CaCO3 5 10 9 PbCrO4 1,8 10 14

CaC2O4 2 10 9 PbI2 8 10 9

CaF2 4 10 11 PbS 1 10 27

CaSO4 1,3 10 4 PbSO4 1,6 10 8

Ca3(PO4)2 1 10 29 SrSO4 3,2 10 7

Cd(OH)2 2 10 14 Zn(OH)2 1 10 17

CdS 7,9 10 27 ZnS 1,6 10 24
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 5 - 
                             (R1  R2 – ,
                            )



84

 6 – 

.

, 3

-2  
110  = 540 

 –
10

100
90

80

70

60

50

40 , 3

30 0,19;  0,18 40
0,28;  0,30 60

20 0,38;  0,40 80
0,48;  0,50 100

10

0,05 0,1 0,15 0,2 0,25 0,3 0,35 0,4 0.45 0,5 0,55 0,6
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 7 – 

1. :

) 
 – NH2–CH2–COOH
 – CH3–CH(NH2)–COOH

 – CH2OH–CH(NH2)–COOH
 – CH2(SH)–CH(NH2)–COOH
 – S2[CH2CH(NH2)–COOH]2

 – CH2(SCH3)–CH2–CH–(NH2)–COOH
 – CH3–CH–(OH)CH(NH2)–COOH

 – H3)–CH=CH–(NH2)–COOH
 – CH3–CH2–CH2–CH(NH2)–COOH

 – H3)2–CH–CH2–CH(NH2)–COOH
 – CH3–CH2–CH(CH3)–CH(NH2)–COOH
– CH3–(CH2)3–CH(NH2)–COOH

) 
 – HOOC–CH2–CH(NH2)–COOH

 – HOOC–(CH2)3–CH(NH2)–COOH

) 
 – H2N–CH2–(CH2)3–CH–NH2–COOH

 – H2NS(=NH)–NH(CH2)3–CH(NH2)–COOH
 – H2N–CH2(CH2)2–CH(NH2)–COOH

 – H2NC(=O)NH(CH2)3CH(NH2)–COOH

2.
) 6 5 2 –(NH2)–COOH

) ) ) 

) ) 
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 8 – 

:

1, 2  -  ; 3  - 



87

 9 – 



88

 1
0



89

 1
1



»

  « »

: ., 
; ., 

.

.                                                                              
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